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 BAIRE—ERIZER . TR 1ZInRIZRNN , fd SF
RE R T ELE=0 def sumOfN(n):

ML1EInEIR, BRE MBI EZHT = theSum = ©

. e for i in range(1,n+l1):
BERARE theSum = theSum + i
return theSum
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print(sumOfN(10))
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XBALF R M AT for bill in range(1,tom+1):
. TE&4L barney = bill

\ i fred = fred + barney I
« A R A

USSR A | BEZEE

R WA 7Tt 5 print(foo(10))
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1 if ( [ Gl W AL R G | ) ;?
2 return x; 22
- . 23
2 lf ( * s 0 0 0 e ) 24
4 return y; e
. 26

5 3F £ vovann ) 27
foo(); 25

7 return z; 28

At APythonBYERBREHIGEHEIFRY ?
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static OSStatus
SSLVerifySignedServerKeyExchange(SSLContext *ctx, bool isRsa, SSLBuffer signedPa
uint8_t *signature, UIntlé signatureLen)

0SStatus err; I

if ((err = SSLHashSHAl.update(&hashCtx, &serverRandom)) != 0)

goto fail;

if ((err = SSLHashSHAl.update(&hashCtx, &signedParams)) != 0)
goto fail;
goto fail;

if ((err = SSLHashSHA1l.final(&hashCtx, &hashout)) != @)

goto fail;
err = sslRawVerify(ctx,
ctx->peerPubKey,

dataToSign, /* plaintext */
dataToSignLen, /* plaintext length */
signature,

signatureLen);

if(err) {
sslErrorLog("SSLDecodeSignedServerKeyExchange: sslRawverify "
"returned %d\n", (int)err);
goto fail;
}

fail:
SSLFreeBuffer(&signedHashes);
SSLFreeBuffer(&hashCtx);
return err;

}
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>>> import time >>> print time.time. doc

>>> time.time() time() -> floating point number
1426317539.975
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1970/1/1 0©0:00:00

Return the current time in seconds since the Epoch.
Fractions of a second may be present if the system
clock provides them.
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— import time
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def sumOfN2(n):
start = time.time()

o) 408 B — A~ L tuple
0.3 Bt Ao, VAREITRTE] (F)) theSum = ©
for i in range(1,n+1): =

theSum = theSum + 1

y ERBEOEZETSREER
1%]10,000 X %= end = time.time()
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return theSum,end-start
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>>>for i in range(5):
print("Sum is %d required %10.7f seconds"%sumOfN2(10000))
Sum is 50005000 required ©0.0018950 seconds
Sum is 50005000 required ©0.0018620 seconds
Sum is 50005000 required ©0.0019171 seconds
Sum is 50005000 required ©0.0019162 seconds
Sum is 50005000 required ©0.0019360 seconds
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. HIERENNEI100, 000 ? l
AL K iE AT B [A] 38 Ao 21 10 . 00089 101 -
>>>for i in range(5):
print("Sum is %d required %10.7f seconds"%sumOfN2(100000))
Sum is 5000050000 required ©.0199420 seconds
Sum is 5000050000 required ©.0180972 seconds -
Sum is 5000050000 required ©0.0194821 seconds
Sum is 5000050000 required ©.0178988 seconds
Sum is 5000050000 required ©.0188949 seconds

y  H—RNNZ1, 000,000 ?
BATESA] X 2100,000091015 T
>>>for i in range(5):
print("Sum is %d required %10.7f seconds"%sumOfN2(1000000))
Sum is 500000500000 required ©.1948988 seconds
Sum is 500000500000 required ©0.1850290 seconds
Sum is 500000500000 required ©.1809771 seconds

Sum is 500000500000 required ©.1729250 seconds
Sum is 500000500000 required ©0.1646299 seconds
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y  FIARFI2ATURITIENREE def sumOfN-?(nzz )
return (n*(n+1 2
y  RARERIGEENETTANE

10,000; 100,000; 1,000,000 print(sumOfN3(10))
10,000,000; 100,000,000

Sum is 50005000 required 0.00000095 seconds

Sum is 5000050000 required 0.00000191 seconds

Sum is 500000500000 required ©.00000095 seconds

Sum is 50000005000000 required ©.00000095 seconds
Sum is 5000000050000000 required ©0.00000119 seconds
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def sumOfN(n):
y  ItrSumofNEOIR(EIEAIEIE EB» theSum = ©
3T “E ALY n i for i in range(l,n+1):
B theSum = theSum + 1
ﬂiﬁi%@%&%ﬂn):lm return theSum

L print(sumOfN(10))
T A HBK G A A 2 R/ ROR /2016



AOozzi% (Big-0)

)

[ REMR IS AR THIE

AN AAR Rt KAt HETd, FR2F 1808 RBEANKESEE A FAH
2 69 48 AR

77100,0004 A AR K F= 2t b AT1,0000 A R KA, HRF—FALW P X
AL

FA M B AR & AR PR A6 A% — ANk a0 AT 1)

H=REREL (order of Magnitude function)
AABREHRZRIHTN)WHEABATRRFEN TR, T2HLT(n)FRLEL
P & A £ 3

RS ARE, AL P AMARLE KGEIE, T(n) Pag—LIfra53
H ey T Ak

E B EAGAE T T(n) F A NI ho 38 hosR B R B 6G 35

ARAE “KRO” Rk, wWHEO(F(n)), EHFF(n)ETT(n) &£ FHH

AT A S HUER G 2 R R 5 5 T/ BRa/2016

:



iREIE1TRIIEZIE R KoRIT X

)

1 : T(n)=1+n
Ung KiT, FRIARLZER P BRABREBLRZE
FTART VAK321, PR nfEA &30, ST AR ZRAAAO0(N)

512 : T(n)=5n2+27n+1005
L nfk B, # #1005 &k 2 AE F

B Y nAERARK, nmAAARARARE R, O FHIRA LR A7 760 N AR KA
BIAE, n230 P a9 2 $5, T n2a938 Kig B R Ria 7 K
BT VAT AR R P £ 4827041005, VAR R #589384, A2 H0(n?)

BHE , RESTHENAUN2DERNE , REAFHIERS
WS EAEITRIIE

PARIF. REAFHER, FHRRKNT ka9 2 M

SRR B R, o A IR TUA A 69 38 4T AR LB i

&

C,\Q

AT A S HUER G 2 R R 5 5 T/ BRa/2016

:



B IR0 = REREY

BRI, EARERSSER
»  SnlBKEIRAR , 8RELEEETNER

exponential

14
5
&
i
/_S
S
©)

)

AT A F B 5 = (B A 5 2 e/ R /2016

o s
1 B

Log n

XI%L —
PSES ks §
75
STH
=31



M D RTRERITRIMIZI SRR

p
Y > fCIBE{EIERILIS A4 5B a=5
i@ T(n)=3+3n2+2n+1=3n2+2n+4 b=6
;fg >;::ei in range(n):
% ) (RREREMEN: , ZISMERY S i
7 — n3 x =1i*i
o / 70?.&%'2&790("2) y = J * J
= ' ' ' \ z =i * ]
= 600 b , ~ for k in range(n):

w = a*k + 45

500 b 1 v = b*b
I: d = 33

300
T(n)
200 |

B )
o B
1

- - inear
RAERETET T 0Te :




fEE{EIl2-1

» B4 PythoniREl , TNEEAEKEIFIFRPERINE def minl(lst):
A A list.sort() def min2(1lst):
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) stillOK = True B 1B

5 while posl < len(sl) and stillOK:

%i pos2 = 0

= found = False -
J while pos2 < len(alist) and not found:

3 if s1[posl] == alist[pos2]:

= found = True

else:
pos2 = pos2 + 1
if found:

alist[pos2] = None ——m

else:

Stillok = False —(EETTTT

posl = posl + 1
return stillOK
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print(anagramSolutionl('abcd’, 'dcba'))
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def anagramSolution2(sl,s2):
alistl = list(sl)
alist2 = list(s2)

alistil.sort() D RIERHEE

alist2.sort()
pos = 0
matches = True
while pos < len(sl) and matcheszm
if alistl[pos]==alist2[pos]:
pos = pos + 1
else:
matches = False
return matches

:

print(anagramSolution2('abcde’, 'edcba’))
print(anagramSolutionl('abcd', 'dcba'))
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» HELEE, FEZERF-AEH , &SWMITnR , BERMNIZEO(n)
»  {BEIABIEAAA sortHFAREFXNAY

y MNREBATHEENED , SAMHIEEZRAARNEBREE  H
IETREIEEREASZEO(n2)THEFHO(n log n) , KiZfEHFAIO(n) ==

MU RZREREHEBNSREHIF SR
» PRZMSTHIENERRFTHEFIIENEER0(n log n)
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£H , BEEF TR 2EGLIESHI5IERR

) XERANEMEFEFHFRIAEFENEHED , RIBESHFN =
Gt , IR FR{T2HD | ERfEIEERF 541 2An!

y  EAIEHIn | BB IKEEEE B 2
flde, tF20NFHKaE KM, K74
201=2,432,902,008,176,640,000 /% it i3
do B FEAY AR AL I —AMME kI8 05, 5 277,146,816,596%F (BAL) 49EFIE]
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def anagramSolution4(sl,s2):

cl = [0]*26

c2 = [0]*26

for i in range(len(sl)):
pos = ord(sl[i])-ord('a")
cl[pos] = cl[pos] + 1

for i in range(len(s2)):
pos = ord(s2[i])-ord('a")

c2[pos] = c2[pos] + 1 .
J =20

while j<26 and stillOK:
if cl[j]==c2[j]:
j=3+1
else:
stillOK = False
return stillOK

:

print(anagramSolution4('apple’, 'pleap’))
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AT AANTEIR A T A5 B gt it g, BEAKSF TFTFHE K AN
H3AER R Tt B rkbir, BAEARHE R26K

) FREARSMREIREIT (n)=2n+26 , HYEHKAO(n) , IE—INMEIEHE bor
FEE | RN ZMRHABREEPIEGERIA.
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»  FlEF FFHCTBERRY AR 0L 5!

A. O(n) B. 0(n*"2) C. O0(log n) D. 0(n"3)

Ql: test = 0
for 1 in range(n):
for j in range(n):
test = test + 1 * j

> Q21 test = 0
for i in range(n):
test = test + 1
for j in range(n):
test = test - 1

y Q3: 1=n
while i > ©O:

k =2 + 2
i=1// 2
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» BIEATHY “KoRFE" LARNARNEER TS
»  FEFRITIE TPy thonFFHAB RS LS TMRIERIX 0N E R
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o
O
D)
-~ XJEbList#IDictionary _,
append
. “p o ek pop cq a[i] index(v) reverse
List IESEEHU iﬁg:g remove* ali]=v al[i:j] count(v) sort
. N LS b[ k h k
Dict Tﬂgf b[k]=v pop blk]=v cc[)p)]/ 7G uapsd_a‘ceey
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80/20/E N : 80%89 3Rt A A & 2 A 20%

» FBARE—EERILIstME

y mxellE  IESIHYEFIME (v= a[i], a[i]= v)
W TR R GEATE S, ERANREPITEE 55 % K DALX, ¥HAH0(1)
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»  B—APEFIFRIBK , WLli%Eappend ()Fl__add__()
1st.append(v), F#ATH E]Z0(1)

Ist= 1st+ [v], #fTRFEZO(n+k), HFPkZ#mEG7 X KE
T F AR T &, RR TAEFK MR
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y B—MREEREMEENIR (+) HUER
y  fRIEEMappend () FBiEFRRINITEER

14

5

% » EERYIFRHESIU (List Comprehension ) (i

L\ . def testl():

ol EfEErange AR LTI L=1]

gl for i in range(1000):
=} 1 =1 % [i]

def test2():
=]
for i in range(1000):
1.append(i)

<

def test3():
RS 1 =1[1i for i in range(1000)]

def test4():

1l = list(range(1000))
A FH K G = 8 A F F /R 3/2016



{FFHtimei tiRIRIIERELTRY

y WFESNMRBEERIMTEIE , timeitiBRIBM Y —FE—3R0E
TR T LARSERFVTRIRIHE

y  timeititBIRYERTE
AR E—ANTimerst £, EE2RNLHK, F—ANREZRALBITHIET,
FANRATELBITTREMAERBIT— R “RRKiED”
KGRI Z6timeit T &, AP TUBERABITSZ VR, HHZ
B G 8] LA Fy H 45 6 B 19
from timeit import Timer

tl= Timer("test1()", "from _ _main__ import testl")
print "concat %f seconds\n" % tl1l.timeit(number= 1000)
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t2= Timer("test2()", "from _ _main__ import test2")
print "append %f seconds\n" % t2.timeit(number= 1000)

t3= Timer("test3()", "from _ _main__ import test3")
print "comprehension %f seconds\n" % t3.timeit(number= 1000)

t4= Timer("test4()", "from __main__ import test4")
IEAFHREZEARFFprint "1list range %f seconds\n" % t4.timeit(number= 1000)



AMPERRRIN N EZITIRI A EITR

» HliIEE , sMRERETHEIEIRX

7%k :%E4H (concat) =M, List rangem B, & E 48 £ 112001%,
append{®.Zttconcatth % %
79N, HAVEFEE P & AT KR E A append P& 694 T

-
SR, MR(FAD , FRERIR | LiRRERR T BIS5IRIEERFE
B, ROZid SEEEERAIRIEER. ’
oL 8 4 R 7844 69 B ) R e =
TR AR T B EA T concat 1.889487 seconds EE
F A b A B 18] 2R R 478 23 ) B TR append ©.091561 seconds

comprehension ©.038418 seconds

list range 0.009710 seconds
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)i =R popiXMEE
pop()AF|I R R BAR LE, 0(1)

pop(1)A3F & 2R L%, O(n)

[RETEFPythonFTiEERISCIR G
ix

IR TERGIE, BB TE
JG B b L E 43R ) AT AR B %) — i
EANF AL RA A

18 & d = KAV F B XA E A7 &
AE 4% IR E 7)) & A& 5] BUAE Ao IR AR 9 48
YAk, % %]0(1)

RAAHE R w RiEERTE R R
YERGIT R T &

AT AR F B G = B R 5 5 e /MR t/2016

ListBPMEERIRZIER

Operation

index []

index assignment

append
Pop()

Pop(i)
insert(i,item)
del operator
iteration
contains (in)
get slice [x:y]
del slice

set slice
reverse
concatenate
sort

multiply

Big-O Efficiency



list.popRYitHJiztaE
. HTIEERNOAOKEE , BANHERHMER FpopiR ekt I
BIRdtL , AR — Ak List , $EIEMpop()Flpop(0)

y  FXIARRRDRIListifTASRIS | FRMIHAEERILSRZE
pop()#9at ] REElist K/ Z 4k, pop(@)d9it i AlistE KM L K

31
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. EERAELL |

A FRE2E A B A, Hivleeek 2> X = list(range(2600009))
’ >>> popzero.timeit(number=1000) | &
pop () B 7] £ 0.0007 4 0.7688910461739789 z

\ >>> x = list(range(2000000))
pop(0) i 7] 2 0. 847 >>> popend.timeit(number=1000) r

10 £ 1000/ 0.0007347123802041722

import timeit
popzero = timeit.Timer("x.pop(©)", "from _ main__ import x")
popend = timeit.Timer("x.pop()", "from __main__ import x")
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list.popRIiTHIiztds
BB AR AR MBS

import timeit

/A8 popzero = timeit.Timer("x.pop(@)", "from _ main__ import x")
ég popend = timeit.Timer("x.pop()", "from _ main__ import x")
T print "pop(@)  pop()”
'S for i in range(1000000,100000001,1000000) :
;E % = list(rang?(i?) 555
= pt: = ?opend.t1m§1t(number=1000) pop(0) pop()
> x = list(range(i)) 0.23149, 0.00078
pz = popzero.timeit(number=1000) 0.68661, 0.00020 -
print "0015.5'F, =155 %(pz,pt) 1.43575, 0.99945<
2.00506, 0.00027 &
2. 71711 0.00032
3:32652; 0.00030
4.03600, 0.00032
4.56179, 0.00026
5:17211 0.00034
5.75793; 0.00025
6.28499, 0.00028
6.63129, 0.00033
. EESTINYY D AR "7
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list.popRYitAdintis

pop () & -3 89 % #

» HPERNRERESE
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Time (secs) To Execute pop Statement

AT A S HUER G 2 R R 5 5 T/ BRa/2016

pop (0) & £ PE 38 K A% e 2e0

2501

Aot e AL o |

1501

100 T

50T

e pop(0)

A pop()

0 20,000,000

IEIEIHIRSIREKER , TLAEHIRIKES

40,000,000

List Size

60,000,000

|
|

90,000,000



DictionaryZURE4&H

) FRSHIERR , SULURIERER (key ) SRILTILIER , THHlE I
ERIEAIE ( index ) FHTISIEIR

14
| EEMREANEEHR I RRI
& ) EEEMEEeet itenFlMifEset itenfR(F , HIEARO0(1) =
g y A1 ERRMEERFIMFHPEREFEENXED (key ) , XME
o b =
EB&EO(]-) operation Big-O Efficiency
. RUBRERTHERSE o0 |
set/get/contains -> 0(n) get item o(1)
J6 ®IRAZ BB R ALY BHE R AT setitem O
delete item O(1)
contains (in) O(1)
iteration O(n)
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ListFDictionaryRJiniR{EXIEL

y I MEBERIESRIGIEL i stHfEE—ME , LABDictionaryHifE
ZE—MERYTHIRIEL
A — N EEAListl— N0 2E 5 X4 KeydyDictionary
REAME RART, KRB —MREM in KA,

import timeit L
import random

5
i
é:l:
14
5
&
=
CS
S
©)

5

for i in range(10000,1000001,20000): =

t = timeit.Timer("random.randrange(%d) in x"%i,
"from __main__ import random,x") MW

x = list(range(i))
1st _time = t.timeit(number=1000)
X = {j:None for j in range(i)}
d time = t.timeit(number=1000)
print("%d,%10.3f,%10.3f" % (i, 1lst time, d_time))
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ListFDictionaryRJiniR{EXIEL

y A RFHARTHRBSFREXRDTX , BEH
y  M7IRASRITRIENBEE FIRAHMEIN Ko E _EF Py thon
y  PythonERHIEEZSESENL

https://wiki.python.org/moin/TimeComplexity

31
]
4
1
5
=]
A
—
o
S

o 10000, 0.062, 9.001
N 5 30000, ©.189, 0.001
. e 50000, 9.329, 0.001
o1 e 70000, 0.440, 0.001 -
L. 90000, ©.582, 0.001 Z
£ ) S 110000, 0.710, 0.001 Iy
§ eer et 130000, 0.840, 0.001
3 = te 0 150000, 9.951, 9.001
£ Ll . 170000, 1.077, 0.001
: . 190000, 1..297. 0.001
= B o 210000, 1..977, 0.001
of L 230000, 1.499, 0.001
I 250000, 1.618, 0.001
. 270000, 1.738, 0.001
0 A0 200000~ 300 000 400 000 SoD 000 800,000 700,008 " 8001008 < A4 AA5R5 000 290000, 1.892, 0.001
- SO, T o 310000, 2.055,  ©.001



fEE{EAk2-3

y  Q4: FHEHBAMListIREARAR0(1)? > Q5 : FTHEHE=FEE(ER0(1) ?

- a) list.pop(@) a) 'x' in mydict

% b) list.pop() b) del mydict['x"']

g ¢) list.append() ¢) mydict['x'] == 10

= d) 1ist[10] d) mydict['x']= mydict['x']+ 1 %
&) BLE#E o(1) e) BLE#E 0(1) a

y SRR S chbpkufliIRIZMISE
EEIERZANO ([EE(EIL2-3)
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python/ ViR : 4555

) PythonBRZAERNER. HREFUE(ERS . JLABEARRAIREER

print a, TURAEMBLRETAR AR TS0 FTHBH X

del a, T A%t %a; del 1st[2], TP £ £340TH
len(a), LBk, TAXRFHREAT S TENINK
int(a),float(a), ##EH. F 2. FHEAEHIF 2K
a+b, TTABEELH A, FEE A, FHEOEE, I ROEE
a*b, TABREEHRM, FERER, FHEEL. JEWT L

y IXEGER), RAFIRERS | AEFEELIRFRRBEENXAIE
XA B iEa [ ARER, RRAEAFAEXNE, SFEMFLAER
X
tode KA1 LT —/~%£Color, Fiprint—/~Colorst % & H It 4?2 B/
Color*t £ 6yhmik, 4 RE AF?
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python/ ViR : 4555

y Pythonig(ft 7 —L45TE L% | *?J:Ez"é?‘(ﬂgé‘éiﬂﬁ‘éﬂlﬂmtﬁﬂgmﬁ
‘5 = class Color(object):
Bt BRI def init (self, r, g, b):
self.value= (r, g, b)
iF (r; g, bB)== (255,0.,0):
self.name= "red"

>>> a= Color(255, 0, 0) elif (r; g, b)== (09, 255, 6): »
' >>> b= Color(e, 255, 0) self.name= "green"
o >>> a elif (r, g, b)== (255, 255, 0):
< |red self.name= "yellow"
> b else: -
green self.name= "N/A" a
>>> a+h () |- _add__ (self, b): ~
yellow return Color(self.value[@]+ b.value[0], \
>>> c= Color(128, @, 0) self.value[1]+ b.value[1], \
>>> C self.value[2]+ b.value[2])
COlOI“(lZS,@,@) def __str*_(self) .
>>> print a, b, ¢ % if self.namel= "N/A":
red green Color(128,0,0) return self.name
>>> str(c) else:
‘Color(128,0,0)" return "Color(%d,%d,%d)" % self.value
22> __repr__= __str
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Python/VElliH : {RIR

y  PythonfERZIMBES B2 , & Internet# &4 2 (email%m fFsL %)

éﬁz PA =
3 — &b
i% §1E%$fi?§z;kﬂﬂgghtigﬁgﬁ E'?l:g Internet @ A W WX & H
g i;e?é%u € s P = (HTTP,SMTP,POP, & #FServer)
& S AL SHRERA T (E9. AL
/E R E S & i frLiE 5
= IECTE TS T AT A AL 52
S A5 B FiF 1 B F R P R @ Tk b
KB x4 5 F AL X T A ;
% S S L 2 . o KX
Z A A& X325 (csv. ini%) i B R A
AR Pythoniz /7 3 55 iR 55
2 % K R A&
AR & ARATRS Python X% g #7142 15 47
HEAZ 8] 38 e ) 25
5 BREE R oA K a9 3k
XML £k 3% 4 32 77 g RiER A
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Python/VElliH : {RIR

y BRFIXERRIIIGEE  MEZEERinportiBASAREIR ( F{Elc
B EHEAinclude )

import shelve

-d = shelve.open(filename) # open -- file may get suffix added by low-level
# library

store data at key (overwrites old data if

using an existing key)

retrieve a COPY of data at key (raise KeyError if no

such key)

delete data stored at key (raises KeyError

if no such key)

flag = d.has_key(key) # true if the key exists

klist = d.keys() # a list of all existing keys (slow!)

d[key] = data

data = d[key]

14
5
&
=
q;
S
©)

5

del d[key]

HoH H HH H

# having opened d without writeback=True, you need to code carefully:

temp = d[ "xx'] # extracts the copy
temp.append(5) # mutates the copy
dl 'xx"] = temp # stores the copy right back, to persist it

# or, d=shelve.open(filename,writeback=True) would let you just code
# d[ 'xx'].append(5) and have it work as expected, BUT it would also
# consume more memory and make the d.close() operation slower.

I3 k2 3k 5 z=d . close() # close it

:



Python/VElliH : {RIR
y  importiFAIBR T SRR , R BERSIA THHNEAFEE

import time

time.time()

» HFEMESIASAMRIRIIIGE , BREBIRRINSEFEEELEREE
27!

import timeit

t= timeit.Timer.timeit(....) 3
. EILAMfrom ... import ... REIBSERMNELERASALET T
B

from timeit import Timer
t= Timer(....)
RRZHAET I RFANB AT R F5 KL%, BHARRATR
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Python/\illif : FRESE
 pythonBySHFIRTILIREME SHILR R EE

def func(a, b= @, c= "abc")

func(2)

func(2, 4)

func(2, 4, "xyz")

func(2, c= "xyz"): PHEGSTBR R SAEE, FEZHBWE 5K GAR

5
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14
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5
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Python/VEiH : IDLERY(EFH

y  IDLEQ R HZRiEShell , FlFREE3EEditor
y  FAYmiERE R imigpy thoniEX{E , BARun->Run Module3RiEfT

y IBITHERS R RERELIEShe11 B , FERTLATEShell B4k
SN BERSRIGIEETERSE

:
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B < =
A, AAak B 2GRS, AABiT ARk B AR
AR B RERRTEE, ZPCR HAFirefoxx] i %
RERZIRAGIRER: FRER, LTRAGFHF

y  RFMBLMN
PR B 3T Python%w AL+ A0 R 5, FLAAE LT —XR (J§—23:5977)
BT AL R S, BA=TFFTARLEME L

BB % B LA, %5 R FABE S IR

5
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é:l:
14
5
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%
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5
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